Math 9 Operations with Polynomials

Adding and Subtracting Polynomials

Name:

Date:

3x2 +4x — 9 + 6x%2 — 6x + 12

—3x2+8x+6+8x2—12x -8

6x2+3x—-9—4x2 —3x+13

(3x% +8x — 7) + (—5x% + 3x + 4)

(=2x% +7x — 10) + (3x2 — 4x — 4)

Gx?+4x+2)+ (x2+x—4)

(3x? 4+ 5x + 11) — (5x% — 2x + 6)

(6x% — 6x + 10) — (4x% + 3x — 2)

(5n* + 14n — 5) — (7n% + 6n — 8)

(—3n*—8n+9) - (=3n% +4n—4)

Multiplying and Dividing Polynomials

3(51) =301
—3(x% 4+ 8x —5) —-2x(3x%* + 6x — 5)
—5(=3r) 4(=7x +12)

2x(=3x + xy + 3y)

Sw(—3w?+ 4w —1)

4n? + 16n + 20 12k
n r
3 E& (—8a? + 16a — 32)
6

-8

16x% + 4x% + 8x
4x

24x5 + 28x* — 36x3
4x2




1.

The following regular hexagon has a perimeter of
18x+36. Write an expression for the length of
one side and simplify.

2.

Each side of the following square is 3x+5.
a. Write the expression for the perimeter of
the square

3.

Write an expression for the|areajof a rectangle

and then simplify. A= bqse_xhejaht

Write and expression for thefthe
rectangle and then simplify. rP ide +Side +
=5y W]

2x+4

Sice. +S ide

4,

Write an expression for the length of each side of
this regular pentagon, then simplify. The
perimeter of the pentagon is 10x +20
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Adding and Subtracting Polynomials
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Date:

36+ 4x — 9 £6x7 — 6x + 12

—3x2+8x+6+8x2—12x -8

1 .
qQy~ —axx +3 T o iy 2
6x? +3%— 9 — 4x%? =37 + 13 (Bx?+8x—7) + (=5x2+3x +4)
' 2
WY - AN +v-3
(>2%* $7% — 10) + (377 =4% — 4) Gl +dx+2) + (2 +x—4)
2
¥Z+ 3x-1Y b\ 4 5

(3x% +5x + 11) — (5x% — 2x + 6)
(BxE +ox+) +(-5x*+2x~ L)

2%t 7%+ 5

(6x% — 6x + 10) — (4x% + 3x — 2)
((.a‘&z--lpx. +10) + ( =4x3x +2.)

2x>-Tx+1(2

(5n% + 14n - 5) — (7n% + 6n — 8)
(5™ + Mn-8) + (~Th*abn +%)

-2n +8n +3

(=3n2-8n+9)— (-3n*+4n—4)

(=2n2-20+9) + (£3PE-SN + 1)
~(2N +13

Multiplying and Dividing Polynomials

3(51) =3(51)
| Dy =B
—3(x%+8x-5) —2x(3x%* + 6x —5)
s - 3 2
~3%X T a4y +I5 — X =12+ 10X
—-5(=3r) 4(=7x +12)
+ | S - 28 x + 18
2x(=3% + xy + 3y) Sw(=3wi + 4w —1)
3 3
= o 4 2y + by ~(5W W -5
4n? + 16n + 20 12k
5 4 4
N+Hn+5 CL
_ 12k (—8a? + 16a — 32)
6 5 8
= O - 2o+ 4
16x3 + 4x% 4 8x 24x5 + 28x* — 36x3
4x 4x2
1
P Yo x>+ Ty*— 9 x

|«



1

The following regular hexagon has a perimeter of
18x+36. Write an expression for the length of
one side and simplify.

Sxrsle < Brrb]
b

2.

Each side of the following square is 3x+5.
a. Write the expression for the perimeter of
the square

syt = (BRI

(3%#5)H sy ()l

3.

Write an expression for thelareaof a rectangle

and then simplify. A= b&s&xhﬂﬁht
3(xtt) = } X +1Q |

Write and expression for thef the
rectangle and then simplify. P_ Side +Side +

(Rt Dr(xru+(3)+¢3) [[0R)
™ yv 18 +b

2x+4

Side +Side

OR) 2(ax+4) + 2(3)

v o

4.

[Gy 1% ]
o ——

Write an expression for the length of each side of
this regular pentagon, then simplify. The
perimeter of the pentagon is 10x +20

0% +20 _1 2w+
120 =[]




